'P.Lt):-zz_ii-_ﬂﬂrill o
-~ % yoors . & by f,_d_sj_nhl__;_-.‘n.&m..j_f_a.\}dm..

| ~pl-D=0

= Egghw: —-22 *ZZ +|2~__
22239230212

-3t~ 22t
| o ~2 2402
| _ 12242
. D
= 2(2't2-£)[2+)) =pl2)
o =3-2[ Z+3)(2-2) [2#1) =p(Z) -
o e

, *y,MJlﬂaz_Z_Zz_JJ:QLLD_Q(}.J) top 21
. ‘ b_LL)-_Lz."_‘l‘:L %10
RS Ta, . 5 = L. =210

! géa\ = |0-32~ Li_c,rf2;1_tk 3G e
i = 0~F-L=C, : .

[ N | S— il < q;,—""r _—
| ,_._,9_f,i’[z)-=-_f-ni=:-..2.c*tu,!.&\) o -

op,’"(z)--ll ¢,
Al -v Cy = -2

=5 py (&)= | 6-H(Z2-\)-10(2-\)* 2 (2-1Y},




. Cancel]ed

~ oot sahsf,, ‘piE)=0 L
- mch;am [z-) O i

-AhAM ot a_fAlL 13 +he uu_mqu@.-)

R(g)= N z3-4%)

CERE2) (%)%

-ﬁﬂiup ;,):3 (2+.0) (27 (212) 7

(-2 (24+2)*(2-2)°

= “gtﬁ' 2(;12.2
CER 25N Cr Q_

.
=+ € a

?.2 == &g;gt_)_ﬁ_.i&_,&_.t,lc

in'i) (Z~a) Ci_'-a;;) F 0% (Z:-Jul (z-2) 244 24

>33 42:2+22420) = A(2-2) + B2 )+ C (245 Nzmi Y4 D21 Vi
qBCi&MMMMM&MM

=3 (24 Lizs 2z @)—A&Qﬂmh_(uuhuzh)_

ﬁtw)

=53 (24232 +2232; )= (~A+ B ~C C+

+ (-C+D iz + (¢4D)2°

=2 ~Ayp-c+D =6

A+BHC D=6 +b peis W
“C4)=6a i I

_¢+D=0




= C=-)

- = D=3, and C=-34

. Thercfore,
“ArBy3a+ii=0
A+rB=6i+l

= 2b3bu=6i+l2

S B=b and A=(.

_ Therefore,

3(2333(232) =i +6  ~3. +3.
2 2l o
{2+ 22\ (283) (22)* 24 2-i



